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PART A

Which im

portant Act for environm
Protection wag i ronmenta
ot o Passed in the year 2002 ip

(1) Wild Life Conservation Act
(2) Tiger Conservation Act

(3) Evergreen Trees Act
(4) Biodiversity Act

The ultimate objective of th

e Uni
Nations e

Framework Convention
Climate Change is

(1) To stabilise green  house gas
concentrations in the atmosphere.

on

(2) To increase our understanding of
environmental disasters.

(3) To work out plans to curtail
environmental pollution.

(4) To suggest changes to reverse the
effects of environmental
degradation.

Which award is instituted by the
Government of India for individuals or
communities from rural areas that have
shown dedication for protecting wild life ?

(1) Indira Gandhi Paryavaran Puraskar
(2) Amritadevi Bishnoi Award
(3) Pitambar Pant National Award

(4) Sunderban Paryavaran Puraskar

Thé device used on ships to measure the
depth of water 1s

(1) Barometer

(2) Nanometer

(3) Fathometer

(4) Hydrometer

[B]
>0 A
2002 5 DoIEGoE g Bos

BArGo J0dS Q0P5I0eS SlopNlef:- Mot

3630

(D) 3G 89 55,300 ar§

(2) 8rd 5&5{3@5% CD'J‘E

@) dIBAS €35 ar§

(4)  23rgsoye ar§

TETI0E S-Sy CIBE T8y @

58y, EIRS B, 0B o 5O

(1) TeS56008 B0 0 TawHo
P83 QOB Gote).

(2) Soegstes RO 3505
E9aTTPeTP o) DO,

(3) DogSSes SPe00 éﬁmé&é&ﬁa
DerdE0 DGO Do,

(4) SoesSes 8 ), BTN
LSNPl &8RS RULVILBY
PO ES0.

335 (ree SoBEER wodd grSo8 Sy

ISy (P Ige0 BT JoHTODH

eSS (5808550 3R BT TS0

(1) 0BT TPOQ HTESLED HEI,O

(2) 50)BAD BAow &Y

3) oz°028 Hod XSS 90

(4) OBB0 ST NG HHB5I),0

TEop  $008% AISWD  Fooioedt

GoIQ3TPNO DOBL
(1) &b

(2) FSE&EJE
(8) FHebd
4) PEWLS
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5.

If — means +; + means x; & means —
X means +, then which of the following
equations is correct ?

(1) 52+4+5x8-2=36

(2) 43x7+5+4-8=25

(3) 36x4-12x5 + 3=420

(4) 36-12x8 +3+4=60

(5)

- (2)

[E]

. % @IV

+, VOIS Se ;’;bagﬁﬁmés % Vi) D330

52 = /4,!4.‘;5 2 /3/‘_/= 36

43:":?—:"5_'.4_-3::25.,

(1)

36x4—12x5 + 3=420
gﬂ*m?,a'+'"314=ﬁu

(3)
(4)

6. In the following diagram, the circle
Epresents the college professors, the|6. (308 S’@mé""ﬂ;ﬁ“}ﬁ;&w 95058 EYTO
1angle stands for surgical specialists and &
the square represents medical specialists. BTEOD, Begoesn0 5050 %D 2
The surgical specialists who are also DHEWON 000K BBOBERD0 e9:30098
medical specialists but not professors are « Sy
represented by PGy DTV APDRO0. ®OP
fgﬂéﬁ RD)EWED @ooHot  POF
DLy @OV ZN{ebOb) o 80
De380
(1) A
(2) B
(1) A
@ C @ B
4 D 3) C
: 4) Dwv
7. In a certain code, STATISTICS is coded as
SCITSITATS. Which word would be coded |7, TATISTICS &0 %5505 SCITSITATS

as NOITINUMMA ?
(1) ANMOMIUTNI

098 rwowsd Ao NOITINUMMA &0
925500650 2 DS wm;sm;,m

(2) AMNTOMUIIN (1) ANMOMIUTNI
(2) AMNTOMUIIN
(3) AMMUNITION (3) AMMUNITION
(4) NMMUNITION

(4 NMMUNITION |
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Reena is twice as old as Sumg
YEArs ago she was three times ag

Suma. How old (in years) js Reena n
(1) 6

2 7
3) 8
(4) 12

Threg
old gg
ow ?

Consider the Venn diagram.

Five hundred candidates
examination

appeared in an
comprising of tests in
English, Hindi and Mathematics. The
diagram gives the number of candidates
who failed in different tests. What is the
percentage of candidates who failed in at
least two subjects ?

(i

English o
Mathematics
(1) 0-078
(2) 1-0
(3) 68

(6)

4) 78

B]
6;;‘[, 555, 0o 55 ¥OR &od

o G
3ex DBI),ed
g0 6

Sy SOA &od. o
S0y (Ho. oof’)

(1) 6

(2) 7

(3) 8

(4) 12

208 3S VT $080oSs.

3R, ol SoBan KedsSoeX,
Soeodon) 500 Hod S8 T, Eod
35 Digso VG H8geE® Do s T°O
B0y BLHEOR. ¥J:90 300 ;’:g%ﬂiﬁﬁ :
200 oS T°0 TS0 ©

&)

aﬂém v e-:.:J"'E:!é:.'.'l
Ke38550

(1) 0-078

(2) 1.0

3) 68

4) 78



10, . _
T.he _Pie diagram ghows the hourly
distribution of al) major activities of &

Student. Observe the diagram and answer
the followin

The percentage of time which he spends in
school is

(1) 37%
(2) 29-16%
(3) 40%
(4) 27%
11. Study the
carefully :

following  pie-diagrams

Percentage composition of human body

What percent of the total weight of the
human body is equivalent to the weight of
proteins in the skin of the human body ?

(1) 0-014
(2) 14
3) 014
(4) 25

(7) ]
- o)
10. W23 é DEBS0B50LD 2.8 :Jﬁ"ﬁ 3

[E]

BTS GTen srderEon.

woNS WSS FeToSRED H3ADHS0
0%, Foha00. '

(1) 37%
(2) 29-16%
(3) 40%
(4) 27%

11. & 300 P 5e35% wryiese S03905{S/

eSS FO50 ), Krthy TSy

#0060 IrY 253 S0k B0 Sotsd
D300 TS0 EHT 050

(1) 0014
(2) 14
3) 014
4) 25



Only datg stored in ROM can be
modified quickly with ease.

Pick up your answer from the following :
(1) |

(2)
(3)
(4)

Both A and B are correct
Only B is correct
Only A is correct

B is correct, A is wrong

13. The present World Bank President is
(1)
(2)
(3)

(4)

Nikki Haley
Robert McNamara
Kristalina Georgieva

David Malpass

14. The Central Government’s target is for

providing clean drinking water to all by
(1) 2021
(2)
(3)

(4)

2022
2023
2024

12. Eo¢s A S0c» B @3 o (BSSTPe
aaﬁﬂseamgﬂﬂ .
A ROM o306 86 §Q awd, 30
K035, =lxle Jﬂ&‘;f{)g S08rOS
T8 S-S ogS I00.
B. ROM S0 Do &odS Gerd

el oegjone ;’Jrﬁ‘}ﬁﬂ;in.
208 A& Hod D BIrEER) Jo¥
daHod :
(1) A $0c5» B Bodkr $38I
(2) B SrE 9330
(3) A Sr(gsan $3S0
(4) B X338, ADJIO 570

13. (B0 (5505 ergod eg3gEGd

(1) E'Jéb Fo)J5)
(2) D‘EJQ ESSmE
3) 8R0S &S

(4) GIE Sro>DH

(14, So® EabEo o8 HEIRS @15 DIV

88 J0IBTRS @oloTed) ©f sorr SN
5508
- 2021

2022

2023

(1)
(2)
(3)

(4) 2024



GSLV-MK 1v
GSLV-MK 111
GSLV-MK

(2)
(3)
(4)

16. Consider the following statements -

A.  Increase in deposit rate results in

higher savings.

fall in credit offtake.

C. Increase in deposit rate results in

Increase in investment.

Which among the above statements is/are

correct ?
(1)
(2)
(3)
(4)

A and B
A and C

A,BandC

Only A

17. The country hosting the next Olympics to
be held in 2020 1s

(1)
(2)

(3)
(4) South Korea

Japan
France

Qatar

Increase in deposit rate results in|

16, Sogod pE Sosoiro2

16.

17.

28 S7°

BArAOBAS s &5

(1)
(2)
(3)

(4)

GSLV-MK II
GSLV-MK IV
GSLV-MK III

GSLV-MK 1

208 [BSSTRS HOKSS S B o :

A.

A5 Tenw wodHSe POBONT
;B?c;so@ BEIHE0B.

E>2e5 Benw pomSe SOSOM
@By BEBE0 SMHEB.
Gre2ed Tén vodse HdSsor

h&%mmﬂ: O TQ.

2 T DOS (PSSSolTen DBND ?

(1)
(2)
(3)
(4)

A 5H8a%n B

A 50805 C

A, B 50805 C
A 380

2020 & 2.D0BEYS BERSy B¥o

(1)
(2)
(3)
(4)

230
N
PIH
&ges S
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18. N (10) L1
ame the ﬂlltermuﬂ
_ t bo
animal] ce)j. “Ndary of 5 living |18, e30¢5,  Su¥ersioo 50T 53500
CI00toS8.
(1) Plasmg membrane
(1) S8
(2) Cytoplasm s

(2) Seaergo (Cytoplasm)
(8) Soss 26

(4) DNA SodoSyen

1 . 1 .
9. Consider the following statements : 19. (08 7739 $0KeaSE’ 8 H:slod :

A.  Green chemistry focuses on effects of A S5O0 SrapS ooy SUS°O

chemical pollutants on nature. 6
PETToR (1 3y Gz PEE0L.

B. Environmental chemistry focuses on

_ d DTOoSEAE  rOSAY
technological approach to prevent - E‘mﬁta 2 e

pollution. A0 DTN TIPONS  F°RO
) DEDBOD.
Which of the above statements is/are
correct ? | 2 PSSToS $BHIB(D)
(1) OnlyA (1) A SrESS
(2) B SrE0

(2) OnlyB

(3) AXSdai» B So&r
(3) Both AandB |

(4) A HBa» B o

(4) Neither A nor B
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20.

(11)
nsider the fﬂlln‘ng' g 20. @Ga =063 58 ﬁﬁﬂﬁﬂ& .

ASSEPH.-DH (A.j . Bt cotton is s EeﬂEtiua]ly rﬂ%ﬁﬁl’ (A) - Bt ;sa @:‘\_‘bﬁja 33:135

engineered cotton variety. 30230
Reason, (R):  Bacillus thuringiensis is 5529860 @‘Edgm.
“living insecticide”. . <
. Seosin (R) ¢ erded 5>80230D)
00
- Se the correct answer from the codes 9558 “B5180
given below.
HoStDed”.
Codes:: '
a0y roges o &3 50° e300
(1) A and R are true and R is the correct KBOSOA |

explanation of A

& ;

(2) A and R are true but R is not the
(1) A D8cs» R Jdolosd ﬁa‘.ﬁg&’n)ﬂ}

correct explanation of A

500050 A % R ¥3S dsses

(3) Ais true but R is false
(2) A 080w R 3ot Q&BgS00eD 0 A

(4) A is false but R is true
2 R OGS D389 300

(3) A ﬁfﬁﬁm, °0 R E}?\Séﬁsﬁn
(4 A Eﬂﬁéﬁsﬁb, 3°0 R ‘rﬁ@é&iﬂ

21. ‘5553136.’9519_&3 @2)& OIS Eﬂﬂi:;n)éaéc

21. Which gas is safe and an effective
DOGBS S0 TS SoBox

extinguisher for all confined fires ?

QI
(1) Nitrogen dioxide (1) Q@Ssaa & C‘éojsﬁﬁ
(2) Carbon dioxide (2) Sy GATHE
(3) Sulphur dioxide (3) R0 Korgyb

(4) Nitrous oxide (4) E@JE} @E‘Da
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22. The

(1)

(2)

(3)

(4)

(12)

term “Biodiversity hotspot” refers to
giving information. about biodiversity
A region which has the maximum
biodiversity

A region with exceptional levels of
plant diversity and serious levels of
habitat loss

A region that is most susceptible to
biodiversity loss

23. The Ramsar Convention is important with
respect to

(1)
(2)
(3)
(4)

Protection of ozone layer
Protection of wetlands

Protection of wild flora and fauna

Protection of tigers

22.

23.

WO

(1)

(2)
(3)

(4)

¥ oSN  HBH ey
é;jé ) nggg HOVORHOWN
BDIFTO°R) RO

103 £SPA0 ) 08O

g0 IGO0 G30¥), Srvidaela
Loy S8 BiSFon ST
SH0 SORS &8 @roso

5355 SLS readosH SOAS
(@ro0

CEonb B0y B8 Vowood
35333;35@:55

(1)
(2)
(3)

(4)

.85 8 DosEes

Sorreed girsne (wetlands) SoUEes
Sy 0K © HOAKW ;5335 230€0J)®
slelelstas

QO DOBEES

to the report, ‘Our Common ‘
24. According 124, ‘55 255 $rsE 38K B0 (S350

Future’, what is the major cause and
effect of global environmental problems ? ﬂﬂ“séﬁtﬁea ra;i)oase:r Ca'.ll}§b_ @cﬂﬁ 3*0*3?65
SO0 B ?

(1) Poverty

1) Hes8Eo
(2) Population -
23T°g
(3) Industrialisation
| 3) JOFELSes
(4) Pollution @)

3“6133550
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N f‘iﬂw IIIBI:IF meaningful Wﬂl;dﬂ can be|25.
Ormed using the first, the third, the fifth
and the Sixth letters of the word
:T'R.ADEMARK using each letter only once
In each word ?
(1) One
(2) Two
(3) Three
(4) Four

triangle.

Find the letter that lies only inside the

26.

(1)
(2)
3 g
4) b

e

a

27. Number of triangles in the figure is

(1)
(2)
(3)
(4) 6

16
12

27.

[B]

s,
Mbjlémx sy 505550 0D 15 3

o)
55 0ot 635 eEswod *

2430830
OES0SS  BEsvosH &8 Eﬁiﬁm
25038 SSTrRoY S BOHSY

(1) ea8é

(2) Totdh

(3) oored

(4) o)

(B8022508° STSBR0 Ko eFB80

(1)
(2)
(3)
(4)

& (S00 T Iy Bgbesven G\
S0

oM P

(1)
(2)
(3)
(4)
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(14)
M# If E. * — ab
b= N ? ﬁ.ﬂd th'E value of | 28,
3*(3*(-2)).
(1) 6
(2) 3
3) 9
(4) 12
29.
29, ' ‘
Two traing running in opposite directions
;uss 4 man standing on the platform in
Seconds and 15 seconds respectively
and they cross each other in 23 seconds, |
The ratio of their speeds is
(1) 3:2
(2) 3:4
3 2:1
(4) 1:4

30. A sum of money invested at compound
interest amounts to T 9,248 in 2 years

and to T 9,826 in 3 years. The sum of

money is
(1) ¢ 8,192

(2) T 8,526
(3) ¥ 8,670

'(4) T 8,720

81, This is not a popular top-level domain :

(1)
(2)
(3)

.com
.army

.net

30.

31.

(4) .org

[E]

a*hs= ab
a+b

1) 6

(2 3

@) 9

(4) 12

00O Je0thH DT IDyG Ty areS
PO D dowds 33 SSme 27 EHe
DOAD 15 VEDHE” T SO
& 00 34y asSmrafsel 23 JEDHod’
oredid. wans & Totd 3¢ SHswe

938
(1) 3:2
(2) 3:4
(3) 2:1
4) 1:

00 3 * (3 *(—=2)) =

§'08 (335005 ertoSEs 30, 30 Cotdd
DOSHOS00E 9,248 &r. OO 3
DOSETHWOE 9,826 L. QNI LN
et SG8 3T BB o ?

(1) < 8,192

(2) T 8,526

(3) T 8,670

(4) T 8,720

o8 T&° (SRg DodS e(ion &R0
S |

(D
(2)

(3)
(4)

.com
.army
.net
.org



(1)
(2)
(3)
(4)

Configuration
Accessibility
Authentication

Logging in

India’s present Permanent Representative
at UNO is

(1) Shashi Tharoor
(2) Syed Akbaruddin
(3) G. Parthasarthy

(4) G. Ramaswamy

34. In these cities of Sri Lanka, there was a

bomb blast in 2019 on the day of Easter :
A. Colombo

B. Negombo
C. Batticaloa

The correct answer from the above is
(1) AandB

(2) BandC
(3) Cand A
(4) A, BandC

35. On June 17, 2019 a report on ‘The World
Population Prospectus 2019 : Highlights’
was published by this organisation :

(1) UNICEF
(2) UNESCO
(3) UNO

(4) WHO

33.

34.

35.

. TR0 DS %8050 ﬁ'%;ﬁé (ﬂpgb

GyESERSS S OLTED
(1) SPODNBAS

(2) @*me;fsq:s

(3), (redstses

(4) o°hoh 39

UNO & (5598 o858 7°%c5 (588
(1) 48 &b

(2) DS SHHYS

(@) 2. PEPE

(4) 2. D‘S’erf‘l‘nsﬂj

2019 & &b Oars BoosdEd S
SKoPeR erow &ry 3OR0d :

A Foof’

B. 3JIFoS

C. 28358

2 ¢ Dok  DOADS  [DSrprso
geleToinlele

(1) A00cinB

(2) BX0ainC

(3) C0cin A

(4) A B0ai» C

2019 270 173 ‘D S8 FHBad @n%0

2019 : PPy @b 28 IIBE B Hoy
0800I

(1)
(2)
(3)
(4)

UNICEF
UNESCO
UNO
WHO
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86. It was decided to start . Village|86. o $BF H4ED & BOS (%
cooretariats on this date by the| o een @t0Erdd dowoSBECE

Government of Andhra Pradesh.
(1) 14th November, 2019 (1) 14 35086, 2019
(2) 15t November, 2019 '
’ 2) 1 206, 2019
(3) 2nd October, 2019 @ hese
| (3) 2§26, 2019

(4) 15" October, 2019
(4) 15 wgms, 2019

87. $0e5 oy (©5e300 Bodks B¥o

37. The second country which declared

Climate Emergency is

(1) Brazil (1) B2
(2) Ireland (2) ok
(3) Italy 3) 3&d
(4) Iceland (4) Elﬁiﬂ‘ﬂa

* 38. Which of the following are not correctly 38, 00 5N 1P eseherdd Ko00W%06 ¢

matched ? :
A. Haemoglobin : Skin A TIRHS &5&;‘:33#
B VitamiinO T - B. 2&MS-C : el e Y
C. Carbohydrate : Potato C. 20G Jorgsm @ LOmFEoD
D. Fat . Butter D. &g RSN

(1) A0 B SrEsad

(1) Only A and B
(2) B, C 000k D SoeEhad

(2) OnlyB,CandD

(3) OnlyAandD (3) A SO0 D S

(4) OnlyA,BandD (4) A, BX8a» D Segsad
39. What portion of thi Moon is visible from 39. 2S00 509  So D ST {:,J;,}D)) o
the Earth’s surface ? SO OB FBO EJBRED ?
(D) 47% | QO 47%
(2) 34% (2) 34%
(3) 21% 3) 21%
4) 59%

(4) 69%
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40. The quality of a printer is measured by
(1) Alphabets per Strike
(2) Words per Inch
(38) Strikes per Inch

(4) Dots per Inch

0. Qof  @wy, oeesS EITS

o325

(1) &8 @E&‘o ggcl“ﬂa

(2) a8 @oHerds Horew
(3) o.% ®oiHordd @ﬁjﬂﬂ

41. Which Article of UN Framework (4) of @0fHedS Grty
Convention on Climate Change speaks

about education, training and raising

public awareness for dealing with climate

41, UN HH56, SBS o5 3hes Pod
By, & 6fES Tosse SrENoS
SgSrdonads Ay, 3gee Nilelenty

change ? -
Smod’ eSS Dodto Hdod SDaH
(1) Article 4 _
(2) Article 6 w309
.C ; (1) Hggeﬁ 4
(3) Article 7 % ﬁggé "
(4) Article 5 @) eggeﬁ ;
42. Wildlife Conservation projects in India (4) Eggé' 5
have special projects for protecting which
of theka aidinale ? 42. 58 BFoS SSgred Dot PPERO

200 T & BOBHO VOBEHD (BB
B0 OA aTow

(1) Do HOOKDL P& Sy

(3) Tigers and elephants 2) 9 mﬂ}mm <5805 DSoKren

(4) Tigers and lions (3) $HHewew SHBaA DorHen

(4) HDeooen $H0A poTFen

(1) Tigers and rhinos
(2) Rhinos and elephants

43. Environmental sustainability requires

(1) Implementing Eﬂ;ir“ﬂmemal 13, SO°GSSE SRCHIHHA SFebOd
* o t -
QT ion lawscatringenty (1) Soegstes $O8Ee SerodH EBSor
(2) Participatory, open and democratic 950 SaHo

decision-making (2) TH0%0 B oA P &5&’5

(3) Focussing on the number of Qlnedorr 5‘6::33 K)g'::::i:c: S50
beneficiaries (3) ©fTHe JoPsR BN FBoBGO
(4) Reducing deforestation (4)  e9edd) 33531@5;;50 SAoWEo
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44. Give that
" 44, 308 77¢30 50Kee8°8 S8 od

8. A is the brother of B. B G0, 5EHED A.
a. lr

b. A diw¥), o C.

c. E g, LD D.

d. By, H3r3 E.

b.  (Cis the father of A.
C.  Dis the brother of E,
d. Eisthe daughter of B.

Then, the uncle of D is

(1) A &0, D ﬂﬂgbl‘%“ﬁl
2 B 1) A
@ c 2 B
(4) E 3) C
(4) E

45. How many numbers lie between 300 and

500 in which 4 comes only one time ? 45. 4 @08 280 Sr@dH S8 300 S0k

500 5655 53y S0 Bog

(1) 99

(2) 100 (1) 99

3) 110 (2) 100

4) 120 %) 10
(4) 120

46. Find the number of triangles in the given| . . ., s Debere Koy

figure.
1) 6 (1) 6
2 5 (2)
o 8 3) 8
* (4) 10

(4) 10
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47.

(1)
(2)
(3)
(4)

(19)

In this question some Statements are
followed by some conclusions, You have to
take the given statements to be true even
if they seem to be at variance with
commonly known facts and then decide
which of the given conclusions logically

follow from the given statements ?
Statements :

(1)
(11)

A few of my friends are teachers.

Teachers are rude.
(ili) Some rude persons are good at heart.

Conclusions :

Cl. A few of my friends are good at
heart.

C2.

Some rude persons may not be

teachers.
Only C1 follows
Only C2 follows

Both C1 and C2 follow

Neither C1 nor C2 follows

48. The number 52563768 is divisible by
which of the following numbers ?

(1)
(2)
(3)
(4)

22

24

44

36

47.

48.

[B]

£
o ;}éﬁ“ﬂjl

S0P FIEEEO: 3> 5550

ForSerom SosKs BOND 5{35‘593

sl Tedd I i

B0y GHGITNOD, B QL i

Soofodyots ord B :ngpoéﬂ :

SeSSSasven :

() Throed §Q <508 635

Gi) el sBSOIT GoErd.

(i) oS0 &ot F§ Hob 5083000
509 0550y EOAGOETL.

SvAoYew :

Cl. Tnorde §§ 508 HHoW 30350y
EOR & 00.

S0 ot £ 008 ey
5“55:'3‘955&3&.

C2.
(1) ClSrEsadd o°d &od
(2) C2 SrEd ood Sod
(3) C1:5080%» C2 Bokr o0 draw

(4) €100k C2 3okr ood SaHS)

SPRITB &b Howg Bod TS B2E
PROBRET BoSod ? -

(1) 22
(2) 24
3)
(4) 36

44
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49. A B and C jointly thought of engaging

themselves in a business venture. It was
agreed that A would invest ¥ 6,500

for 6 months, B = 8,400 for 5 months and
C ¥ 9,000 for 5 months. A wants to be the
working member for which he was to

receive 10% of the profit. The profit
earned was ¥ 7,400. Calculate the share
of B in the profit.

(1) T 2,660
(2) T 2,520
(3) ¥ 2,220

(4) T 2,840

50. Four horses are tethered at four corners of
a square plot of side 36 metres so that

they just cannot reach one another. The

least area left ungrazed is
(1) 2755 m?
(2) 280-6 m?
(3) 277-7 m?

(4) 250-5 m?

(20)

[E]

49. A, B 580 C &0 Swsh Sioo 5%

50.

TP (E0HOTD @) T8,
A &5 @9¢5¢d 6,500 &r. 6 00 B e
8O 8,400 L. 5 I Hdafy C
@ @8 9,000 &F. O 5 Do
DENNG VPO AFowodd. A e
OB TErdsn SRS 10% oPgisw
SESSBH @) AYawodd. Jwessw
7,400 Gr. ogis0 SN i B e
98508 TGN HOLH T Jods 9

(1) T 2,660
(2) T 2,520
(3) ¥ 2,220

(4) T 2,840

36 D JED) KO 2 SEEEFSE FosSw
DO TN Srogr T B0
563 JWESD. & HESV ST
2583 JWHETSBS) ©ows B HESwe
PoIredondd  @3FSD  awE), R

ST

(1) 2755 m2
(2) 2806 m2
(3) 2777 m?

(4) 250-5 m?
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51. trIEIE term ‘Computey’

e Central P&pcessing Unit and glgq
(1) |

(2)
(3)
(4)

Input Devices
External Memory
Internal Memory
Output Device

b2.
grouping is used.

(1)
(2)
(3)

Tables, Paragraphs and Indexes
Paragraphs, Indexes and Sections

Characters, Sections and
Paragraphs

(4) Indexes, Characters and Tables

53. Consider the following statements :

A. Population Division of the United
Nations published a report titled
‘The World Population Prospectus
2019’ on 17 June, 2019.

B. The report says that the world’s
population in 2019 is 7-7 billion.

C. As per the report, in 2019 China has
1-33 billion population and India has
1-27 billion population.

Identify correct statement(s) from the
. above.

(1)
(2)
(3)
4)

Only A and B
Only A

Only C and A
C,Band A

To do the formatting of text in Word, this

(21)
generally refers to

51.

62.

53.

‘50;2}‘5&5’
00N e

A Eeblela

(1) FoY)eS S0ET

(@) ey B0

(8) @oBES HBS

(4) 385985 SO

S56 O, @k, egbson sesal B

ﬁﬁﬁ“ﬁ@& ~aliieV
(1) Sefgen, Soreo SHOAD JrdS

(2) SHorew, SrdEen SHOKD gD
(3) eETred, DTTTeD SO0 DT
(4) SrI¥en, eogTren SHOA HeIsew

808 BSITOS HOKEsS’S HAT S

A, 2% Texy Doy 23rd) JgPRaD
2019 7% 17 § ‘@ I8 J;PHBI
S0 2019, 3058 oX DY

@mauﬁm&/

B. 2019 & (B30 wargr 7-7 HOHID
3 IO 0.

C. 2 0¥ B0 2019 & [ 1-33

OO0, JokaLc 1-27 DOODHY
e EOA 6:5&3.

P PISTO oG DO Te3
080504,

(1) A 805 B Sr(esd

(2) A SrE$

(8) CS0Ba%0 A S

(4) C,B0ai» A
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59.

A. Diseases caused :
by bacteria

From the above lists,
classified diseases are

(1) D,C,Band A
(2) OnlyD,Band A
(3) OnlyDandA
(4) OnlyCandB

60. One of the

micronutrient required for plant growth.

(1) Molybdenum
(2)
(3) Magnesium

(4)

Manganese

Copper

: Malaria,
Amoebiasis,

. Taeniasis,

following

(24)

Cholera,
Tetanus,
Leprosy,
Anthrax

Diphtheria,
AIDS

Blastomycosis,
Syphilis,
Rabies
Measles,
Dengue,
Rubella,
Influenza

the correctly

1S not a

59.

A. ergoate
Se&esonT er:iJJ
B. @%¢5°&550

Slefa-TeTau 351.‘.5}!'}
.T'Ec:ﬁ:en

C. Joiw
Seas307 SRV

Fﬁt‘;ﬂaﬂ;&
D. 360 se8easone
5{.53‘3 THE0ED

. a"ﬂﬁ), agrﬁn&l

QSge,
aﬁé_}cﬁ)aﬁ

2 T Sot WO 308G Daeds

TGOV,

(1) D,C,Bdo A

(2) D, B 00 A S5
(3) D 0w A Srigsdh
(4) C0a» B S

S08 TS a8 Boo%e BSOS

SRORS WSS S5

(1) ﬁ?@a}éﬁ&
SrondDE
535&33\03235

o098

)
(3)
(4)
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&8 NEg0S S8 61 Hod 85 35 Ke

64, ] y
BHO® wTrwves HYoNoA. P63 Bissser - @I
: (1) oreven
ore @Eﬁ&ﬁnciﬁn QTS (SSS0eneo D&y (2) (@500
B580 S0 @rEEno® Sessne 26309 (3) i @
DoNTEE; SSomwed IBI0D wged dn| @ Lrsowtves
SPFo B IHaony 2o
= > TABorIoD 88 g5, 3 Hone 58, SES Sore BoRg
EFIF:J@?EJEJJ gﬂﬁébﬁ mg{éﬂﬂ“ﬁ“ﬁ,ﬁj ;ﬂ;gl?jgg‘wﬂ K
C5r80ee0en &°58008. HE o (ST od sl
00 D KOS o s (3) Sared
MIOD DBA T S0 eoSeadH 4) TAO
DO oS SESE . [T Tras020e) L:Sﬁeg 66. ‘How are you ? I don’t see you for ages '
33550 S HonRD. Choose the option which can replace the
underlined sentence.
(1) Ihaven’t seen you for ages.
61. 9 ®
Ci}é&eg e Beigo B0 (2) Isaw you for ages.
(2) LEF;}EEJDGJ (3) Ihave saw you for ages.
:3; EJ SPEROED (4) I not seen you for ages. -
0D
QJ% 67. I do not know very much
(4)  gorodoo medieval history.
Choose the best option to fill in the blank.
62. ‘DD INOG TALOW ST D bt
(1) PHoreasined B3was odm @ ok
(2) 35008 {35’%}3&&5 o " (8) in
(3) SOTTT°O aIeddOOW (4) with
(4) ¢5§ B3en DS o 68. Choose the correct sequence labelled as
PQRS to produce the correct sentence.
83. U2 (50300 DS eaSTHoNS TPdSw had / experiences / 1 have / amazing
» (P) Q) (R) (S)
o)
@ ¢ : @ sPRQ-
il (3) QPSR
(4) ©TSPES0 () QSPR
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Directions : (69 _ 73) Read the passage given |72. ‘We enjoy the beauty of the natural world.’

below and answer the questions based op it Here ‘natural’ is |
One of the reasons why Nature and
: (1) Anoun
;‘Jelaxatmn are connected is that being in
ature helps us to connect with the present @) Anadvers
moment. We pay attention to the here and now. (3) An adjective

This moment and nothing else. We enjoy the
beauty of the natural world and we stop having
stressful thuughts, we stop worrying about the
events Df: our lives. We simply enjoy the present | 73. According to the passage, watching a
:tm:::il:trlnltr in Nature. If you can’t go outside, look Nature video
oy ;I;ge WEE of Nature, or watch a Nature video. | (1) slows down the process of coming out
0 have watched videos of Nature, f a stressful ts
recovered faster from the stressful event. M, .

(4) A verb |

Through visualisation and relaxation learn how (2) does not have any effect on people
to create images of Nature in your mind. You undergoing stress
iwﬂl find great relaxation benefits using (3) makes them depressed in the long
imagery. run
69. The author ‘Sugge:-sts (4) accelerates the process of coming out
(1) Spending time in Nature nurtures of a stressful event
creativity
(2) Spending time in Nature helps in
living in the present 74. Choose the part labelled as A, B, C, D that
(3) Spending time in Nature is a good has an error.
suhstit-;ute ff:u' ph'ysical e:-:en?ise My father / made me go /
(4) Spending time in Nature is a good (A) (B)
t te time _
R and apologise with / my friend.

70. Which of the following is not mentioned . b
as the method of bringing Nature into our (C)
life ? (5 K
(1) Looking at images of Nature @ B
(2) Watching videos related to Nature
(3) Visualising images of Nature in the 3 C
mind 4) D
(4) Drawing pictures of Nature ,
Nature provide relaxation !
" g?w dB(;rEEilelping Lfs in forgetting the past|75. At last I finished my project !
and stressful thoughts Choose the correct option to fill in the

: : ise the stressful
(2) By making us msuath‘-‘ u blanks.
thoughts and  purifylng those -

thoughts am
(3) By making us think about our sweet ) did
memories | 3) has
' . ating us to plant trees 1n
il ey (4) have

our house



VOWS |

{27

PART B

76. According to the Meteorology Department
of Indian Government,

monsoons in
November are termed as

(1) Changing South-West Monsoons

(2) Constant South-West Monsoons

(3) Progressive South-West Monsoons

(4) Retreating South-West Monsoons

77. The programme meant for developing of
about 34,800 km length of economic
corridors in India is

(1) Bharatmala Parikrama

(2) Bharatmala Parikriya

(3) Bharatmala Prayojana

(4)

Bharatmala Pariyojana

78. Another name of Srisailam Hydel Power
Project is
(1)
(2)

Neelam Sanjiva Reddy Sagar Project
Y.S. Rajasekhar Reddy Sagar Project

(3) Kotla Vijaya Bhaskara Reddy Sagar
Project
(4) Damodaram  Sanjivaiah  Sagar

Project

7.

78.

76. o1rOes

LB)
> B

Sy TEsse T PES"EO

S5508EED otk BSOS G0 PPOT

OO

(1)
(2)
(3)
(4)

S80S PHE H IIT°D
RES DB B0 SST
DHETEE PO B IST®

S0 DS ek SST

238585 BF0S” K0STE> 34,800 300 LS
SO NG BIODHH &FBowWs
SE%0

(1)
(2)
(3)

(4)

EEBSTO DO
grEre SOEOH
ARSI INVISH IS Tob bty

e8I, S0AIres

B30 rid 936 PPRKW Ko 30T 050

(1) Qo0 HoRS B& 16 FEY

(2) D.IV. TBPY TG KO P BY

(3) Sy deah grY BG KO BY

(4) TATEE0 HoBSADy N0 EY
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79. Consider the following statementg -

A. As per the Andhra prageqh
Reorganisation  Act, 2014,  the
expenditure in respect of gglaries
and allowances of the judges of the
common High Court ghall bpe
allocated amongst the States of
Andhra Pradesh and Telangana on
the basis of population ratio.

The expenditure in respect of

salaries and allowances of the judges |

of the common High Court shall be
allocated amongst the States of
Andhra Pradesh and Telangana on
the basis of revenue ratio.

Section—-35 deals with the speciai
provisions relating to Bar Council
and Advocates.

D. Section—-36 deals with custody of seal

of Andhra Pradesh High Court.

Which of the statements given above
is/are correct ?

(1) OnlyC
(2) OnlyB
(3) AandD
(4) CandD

(28)

79. (Sob TrEgE0

80.

80. The Tribal Welfare Department has been
accorded permission for converting
50 tribal welfare hostels into
(1) Guest houses
(2) Boarding houses
(3) Residential schools
(4) Youth hostels

(1)

.oaaee ‘

e,')m o
;iggﬁm 5%Gl

éﬂﬁﬂ} ;50E&c1‘.i33

;55053::: ST
e301& $32

2014 (55°00
F..T"E.Ciﬁ 5300° @ﬂ
OIS S5 6D
D58 eae OOV
580 oo T
DaHaatHood.
sxnd Py TEHSTRe BT
$H0ahs o3y e ey SP0
B8Py DY eerEor SOX Blad]
$50B0HD BeOTTE T 0y S0ed

Saherteod.
Y-85 @°D TS Sodas»

Slertlavls £%0 dohdros SO
&0e008.

VES0-36 @O BB TER
O3S apsrod KON Gotod.

B TSRS HOCHIY A ?
C 35578830

B S5e(85a0

ASBA» D

C 0dai» D

5
D. Q0

(2)
(3)
(4)

ADmS NOZH TP 50 AOWS  HOF
FQRHD & dForv SPEVES @800
FoOSE |

(1) 8 ﬁaﬁ‘ﬂ}

(2) 53¢ HyeTPen

(3) &FED FETo

(4) Qlossess E’J“"Q%‘}
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81. The Backward Classeg
Department focuses on 'the welfare and

development of the backwarg classes
through

(1) Economic Development

(2) Technical Development

(3) Infrastructure Development
(4) Agriculture Development

82. Which of the following pairs are correctly

matched ?
A. A.P. Labour 1990
Welfare Fund Act
B. Dr.YSR - Provides
Arogyasri Scheme Insurance
renewal
facility
C. Rightto : Implemented
Education Act in in 2010
AP.
D. National :  Reducing
Nutrition Mission stunting,

nutrition and

anemia

(1) OnlyA,BandC
(2) OnlyB,CandD
(3) OnlyAandD
(40 AB,CandD

(29)

Welfare | 81.

. g

(B

| 7D,
SRV T el Ui :6032; 8 Yol
BBoSerds ScHow D050, T

B Gy BoDod

(1) esfs HIHQ
(2) oSO PG
(3) ST"OE SHehveo IR

(4) ISP

s mSdchods mdoss D08
BaHods
A S0 B3 1990
Bb 350
V&0
B. &. 3.o0.eb.  : HIrBIrsd
8Ky, HESO DAy
5OyR00
C. €0 BA% & 2010 &°
3¢5 & 00850
EDEIO 9830 2adod
D. 536 SrgedN® : ASIHEO
ORI HAASE0
SNOWED,
¥Ags SHBAKW
ST

(1) A, B 50050 C SeEo
(2) B, C 5H0a D Srigdd
(3) A 50000 D SrED
(4) A,B,C00aD
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83. Consider the following :

A:

Investments in physical and social
infrastructure are important for
higher growth which favours the
Poor and ecan alsg Improve
employment and social development,

Low growth in public investment
could be the reason for the low
growth in employment.

Choose your answer from the codes
provided,

(1)

(2)

A and R are true and R is the correct
explanation of A

A and R are true but R is not the
correct explanation of A

(3) Ais true but R is false

(4)

84. Self

A is false but R is true

Help Group Bank Linkage

Pregramme was launched by NABARD in

(1) 1990

(2) 1995

(3) 1980

83. (208 x93 $OMESS

(4) 2005

[E]
3§ @?J gﬂ-ﬁﬂ& .

A: egsps)Rd T°88 Slolerts 3“3’13;35.
o5 sFares’ S0 i
Sopgpsd a0 DesTos BB,
&6 0o FoWSHIY TG

D SEToD.

R: @ﬁﬁiﬁﬁﬁaaﬁmmﬂﬁ @ﬂg&ﬁ&@,
&>QE° w5085 0 ST,

S DRoD @] DIEEEIS0
080B0G.

(1) A S0 R Bodsd DS,
00 A X R 538 29089

(2) A80X» R 3o ﬁiﬁ;ﬁnm =0 A
5 R30S 2589 5°¢%0

(3) ARBSED 59 R 9050

(4) A Eﬂﬁ@éﬁn R 3¢50

JADO DI DOPTRy  eTeHS
OD[oprso Voo TEyEso RNV
(NABARD) 3¢5 (28508052033 SIGRENele

(1) 1990
(2) 1995
(3) 1980
(4) 2005
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85. Consider the following : 85. (3002 H0KeSES 52800 -
A. Education

A. EJr.'ﬁS
B. Market dynamics

B. srg)¢5 @k
C. Mo Ho2080

C. Housing

Which of the above support structures

result in empowerment of women-only

Self Help Groups ? 5 > 38 B g gy 0T HOBOTT

5 B &% Hcoo oo levels
(1) Only A Soorge lOSOS &) ©F

Hosren BEEOD

(3) OnlyAandC (2) B 50005 €SP

(40 A BandC (3) A 00a%0 C S

(4) A, B 0o C
86. The female labour force participation rate

in India which was at 36-7% in 2005 was .
found to have fallen in 2018 to 86. 2005 & OB BFED g TOF F§

FE Bex 36:7% &S5, 2018 & @b B

<k DR 5EHanSD.
@) oA (1) 26%
(3) 32% (2) 34%
(3) 32%
(4) 29%
4) 29%
87. Raja Raja Narendrais a
(1) Tuluva Dynasty king 87. Oce3 O°23 53‘3@53@ 5 5‘3%@ oee?

(1) S S08Y) Toe
(2) &rly weehEs ore
(3) Western Chalukyan king (3) By Tebsy o2

(4) Mauryan Dynasty king (4) g S0%) T°e

(2) Eastern Chalukyan king
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83. Consider the following :

A:

Investments in physical and goejg]
infrastructure are important fop
higher growth which favours the
poor and «can alsg improve
employment and social development,

Low growth in public investment
could be the reason for the low

growth in employment.

Choose your answer from the codes
provided.

(1)
(2)

(3)
(4)

84, Self

A and R are true and R is the correct
explanation of A

A and R are true but R is not the
correct explanation of A

A is true but R is false

A is false but R is true

Help Group Bank Linkage

Programme was launched by NABARD in

(1) 1990

2 1995
(3) 1980

(4) 2005

83. (808 a9 $OKESE IS B E'T0G :

A egggu@ﬁq)gﬁ FHE SHda &ﬁrﬁﬁ,

o Sodoired  DeRudw
SoPFID 3D 50508 DSPANDG,

A3 SBow FowTHHY
0D SLOFR0D.

R : B808denedod o),
G&>rH&° Eq}éuj@é?{ﬁeaﬂ E“SS&JJ.

S DR 28 DRSS
180S0k,

(1) A S50ci» R JBoloso ;’aéarmm,ﬂ
08050 A H R $8S DSGes

(2) A S08a R Both H¢gEne SR A
% R 338 D5tew S

g

(3) A DS50 D R @080 \

(4) A DS R DS

B4, HANO HFODE  HoPTY)  erEHS

VIVOFES0 oI TEGES0 TP
(NABARD) 3¢ (@rSofotsedes H05¢8y50

(1) 1990
(2) 1995
(3) 1980
(4) 2005
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88. Which of the following pairs are correctly

matched ?
A. Kalachakra : Harihara
Rayalu
B. Amuktamalyada : Buddhist
discourse
C. Vddanda Raya : Vddandaraya
palem
D. Rudramba : Devotee of
Shiva
(1) Both CandD
(2) BothBandC
_(3) Both A and B
(4) Both A and C

89. Consider the following statements :

A. Kannuganti Hanumanthu was the
leader of the serious incident that
occurred near the
Minchalapadu.

village

B. The Rayalaseema Mahasabha was
formed in 1934.

C. The Rayalaseema Mahasabha
demanded the creation of Sri
Venkateswara University at Kurnool.

Which of the statements given above
is/are correct ?

(1) OnlyC
(2)
(3)

(4)

Both B and C
Both A and B
Both A and C

(32)

88. 208 T HOMT LBEIGBESD D ?

89.

A.
B.
C.
D.

(1)
(2)
(3)
(4)

$08 TEE0OD $08903508 :

A.

egodﬂ"o’i}ﬂ‘ﬁa

. @5 RTT

e’acgoc‘a ocod

Sro

C S>8a%n D Sodr
B 50805» C Golr
A 358a5» B Sodr

A 3$8c%n C So&r

MOTO P (P HH0E 2OAS
e@!@ﬁ@éﬁ ROFVEINED §Féa;,_ﬁﬂé3
TP N0 TPONEED.

oo S35 1934 & Doy
JavaGoR.

caboosd S50y &S0
MDY Ko Doy
J0rod 5008,

8 TEE0oS HOPR DY 2

(1)
(2)
(3)
(4)

C S5

B 0005 C oty
A 00cn B ot
A 08050 C Bo&r I
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90. Consider S O30
the : 2.5
i following  statements|90. e remsonio (87 oy (@08
e Con’ﬂtlt‘utlﬂ'ﬂ 2016 =5 :)Gﬂﬂ'&ﬂ

91.

Justice of the Supreme Court of India,
President of India (Acting) and Vice
President of India at different periods.

(1) Fakhruddin Ali Ahmed
(2) Mohammad Hidayatullah
t3) A.P.J. Abdul Kalam
(4) B.D. Jatti

The Act introduced Goods and
Services Tax (GST).

The Act amended Sixth and Seventh
Schedules of Indian Constitution.

The Act empowered Karnataka
Governor to take steps  for

developing Hyderabad — Karnataka
region.

D. The Act provided for the composition
and function of National Judicial
Appointments Commission.

Choose the correct answer from the
following :

(1) Only D is correct
(2) Both A and B are correct
(3) Only C is correct
(4) A, B, C andD are correct

Identify the person who acted as the Chief

S 38800506

A &8 THo Y pSO DY .
S3F0eod.

B. & o caoros’d ef WO
DE nETgEHOS BIBOVOB.

C. & Sto pooerd - Sopws
Soso ©hHBE S ST
ORTTR) ETE K350DH 3)00.

D. & $00 =8ah  Jeabhasrio
DALEHSO EDHDS DTy DVod.

Bos 3BCS 638 HOAPSS RIFPT°T)
1080w0é :

(1) D S HDOGPSE
(2) A S508a» B ev Bokr HOGHSD
(3) .C S JD0ASO

(4) A, B,C 500c%0 D HOGHS

91. Y DWOEY BT TOHIEYTET,

PEE RS (o), d%0) ™ 0B
FOS  GITPIETE NG worod
S5O0 Sk

(1) 5HAS 8O wrsnd
(2) 0P8 PSS
(3) 2.2.8. ©2d Sor0
4) .6, =8



C.
D.

Snvereign Gold Bond Scheme.
Kisan Vikas Patra Scheme.

Identify the Jan Suraksha Scheme(s).
(1) OnlyC

(2) OnlyD
(3) BothCandD
(4) Both A and B

94. The Chairman of the National Credit
Council Study Group was

(1) Prof. D.R. Gadgil
(2) Prof. P.C. Mahalanobis
(3) Prof. Amartya Sen

(4) Prof. V.S. Vyas

95. APSSIDC, APSFC, APIIC help to promote
the development of these industries.

(1)

Defence industries

(2) Strategic industries
(3) Small scale industries
(4) Heavy industries

95.

(E]

god =& O Toedd e TEGR
gl 7

1) SQovaee B0k DO
2) SO BT SO0 Wk

3) 10R0E $H0a% TR

4) SS8 (3BT 000k DGy 0%

BB T EgS0e8 503DoB0d

A BTS Ho@ sy DI Ares.

B. OS5 0@ #3535 &8 O3
adresd.

C. 565 ﬁsg a0l ﬁ::b;i:a

D. &35 D5 D& S

2335 K0UgT ), 500D 80806,

(1) C Sr

(2) D Srgsd

C odcin D Codsr
A S>Bai» B dodr

(3)
(4)

94. I53S BET TN ¥ D PR

fﬂﬁiﬁa Co.e30, ﬁ‘%ﬁg
'::‘j?ﬁg 2.2, H5oSHD
STy 95Y; o

(1)
(2)
(3)

(4) &STEs .. :5*55:1

APSSIDC, APSFC, APIIC
S0F00 DR & tytmron
(1) S%e0 DOEFSen

(2) PGB SO FSoen

(3) DSBS SO ESven

(4) 270 SOEH
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96.  Consider the following statements : 96. (o8 TS GO0 55%50&0& ‘
ﬁbstract

2O <)

A. According to Andhrg Pradesh
Statistical Abstract 2011 — 12, the
decadal percentage growth rate of
population in Kurnool district is
14-65.

A.  Andhra Pradesh Statistical
2011 — 12 S0 BTE &T°

g Bt Foo SER g 1465

B. Andhra Pradesh Statistical Abstra

B. According to Andhra Pradesh 2011-12 (@S°50 308 "ngée

Statistical Abstract 2011 - 12,
wS0sH8o BT Qég‘:‘és Boeses
Anantapur district occupied first

place in area in our State. fgﬁoéﬁ &08.
&
C. When compared with the population C. 2001 soeeg thﬂg 3-35@;] W) 2011
census 2001, . according to . 2011 25K DSTD B0 HISTHES'

census, the s tio declined in Ol
e sex ratio decli 58 Bers % DBV BRoB.

every district in our State.

D. The fertility rate in Andhra Pradesh D. &o® @535955 VOB éﬁn}% e

started to increase during 1990 (fertility rate) 1990 S¥50&” 2BKE0

decade. rEodonod.

Which of the statements given above
S T8 HOPSY A ?

is/are correct ?7

1) CSre

(1) OnlyC (1) GRY

(2) Both C and D (2) C 5805 D Bor
(3) OnlyD | (3) D Sre

(4) BothAandB | (4) A 0a%» B Gosr
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97. The author of ‘Soeial Contract’ is
(1) Robson

(2) Rousseany
(3) Ross
(4) Reuter

98. According to Maclver, Society is a web of
the following :

(1) Family relationships
(2) Social relationships

(3) Religious relationships
(4) Fraternal relationships

The scheme introduced in 2010 — 11 by
the Union Government for rendering
services to aid the all-round development
of girls of 11 — 18 years on pilot basis

(1)
(2)

Scheme for Adolescent Girls (SAG)

Scheme for

(SAWC)

Scheme for National Plan of Action
for Children (NPAC)

Scheme for Direct Benefit Transfer
(SDBT)

Anganwadi Centres

(3)

(4)

100. The second largest producer of wheat in
the world is

(1) Sri Lanka
(2)
(3)
(4)

Bangladesh
Indonesia

India

(36)

97. NS Soer§ s
(1)
(2)
(3)
(4)

D‘E.‘Jr:,rs
S
)%
Er€36

3356 Bzto MsrEo RO Eodwd
e elo

(1) éwvoe HooT LD

(2) ;airedE DoOTTD

(8) &8 HooPed

(4) g'jm@jhp‘_’gge:’sﬁ slel-blolapiab \

99. o (HELSo 2010-11 & 11-18
Bosore Do rdso Sl @I
B8 IHES VS0 WoBOROEZ §od
SESR) BT @3%’@%::&
(1) T5r5 d%e S50 (SAG)
(2) ©oiSTG SoTre HE%0 (SAWC)
3) »go =AW TOGWHn  (HerQE

2650 (NPAC)

(4) DTKB orgs 208 I&%o (SDBRT)

100. (5:503508° Fe0%0%0 Ho&od E:ef’.a?ag 306

Q%o -
(1)
(2)
(3)

@aug

Alelylat]

F0E IO

(4) 3JoGatr



VSWS |

(37 )

101. The two rivers flowing in Visakhapatnam
district are

(1)
(2)
(3)
(4)

102. Superior quality limestone is available 1n

Sarada and Tandava
Byneru and Tammileru
Bahuda and Tanaya

Pyderu and Kalangi

the following areas of Andhra Pradesh :

(1)

@)
(3)
(@)

103. The

Bhimavaram and
Buggamadhavaram

Jaggayyapet and Chintriyal
Krishnapatnam and Muddanuru

Jammalamadugu and Mydukuru

Andhra Pradesh Reorganisation
Act, 2014 was published in the Gazette of

India on

(1)

(2) .

3)

(4)

March 1, 2014
March 2, 2014
March 2, 2015

March 2, 2016

101, DEPIIE0 gge:;trf 593

102.

103.

[E]

(1) TS D0k B0k
@ Pt So0am BP0
(3) oo SHOA Fiefove

@) PG O ¥

oy 088" @b romrod 08
Treagl N0 MO0 VRO : ¢

(1) DSBBO $oB0KH LOASTESSE0

(2) Ao DO VOST

(8)  E)eoen0 S0BAD BT

(4) 2350050610 HOCK KRS

o B PV gSpEtE W0 2014
eBS3E T°es D0 (the Gazette of India)
& & BES (OB

(1) o0y 1, 2014
(2) EﬁJ“@J 2, 2014
(3) SﬁJ‘ﬁJ 2, 2015

(4) 02, 2016
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104,

105.

106.

(38)

“The royalties payable on Jomestic
onshore production of oil ang gas shall
accrue to the State in which such
production takes place” This was
included in this Schedule of the Andhra
Pradesh Reorganisation Act, 2014

(1) Tenth Schedule
(2) Twelfth Schedule
(3)

(4)

Twenty-First Schedule
Ninth Schedule

A public sector undertaking of the
(Government of Andhra Pradesh

established in the year 1956 with a single
mission, which is for the socio-economic
upliftment of Tribals in the State is

(1) The Tribal Welfare Department

(2) Andhra Pradesh Scheduled Tribes

Cooperatives Finance Ltd.

(3) Andhra Pradesh State Minorities
Finance Corporation Ltd.

(4) The Girijan Cnuperative Corporation

Thirteen State Governments which

included Andhra Pradesh have set up a

Statutory Commission for

(1) Minorities

(2) Religious and Linguistic Minorities
(3)

(4)

WAKF Council
Women and Child Development

105.

106.

[B]

' 8 2 Tg°
cond & &8 o B9 @08 33

HU@:’R}? B0 s & &
Sigsspson 99O 5
2gErsed’ ol $EDTED
5¢35 DTG0
:35&055 :ld]‘;@
DS 2.ELS VT
FAES TG0

(1)
(2)
(3)
(4)

38 1956 &° Togod 'V AdEO DS -
08 &gt SO B0 BRI 580850
FHODS Bebsg SoK HOP

(1) 8 God 3836 &>§Iooes

2 @0 BBF nErS G § endedD
323“5;] OMBE _
SO BBF T Poroedd PIeSy
528030 dWEE

(4) & Ad=S §° 393e3S SUSRYSRIS

(3)

SO RRS 5O BESare T IO
S D6 2GR0 SRR o™y BJass
1) oo

(2) 3ORADLD avo& OoRE
PT0e30%

WAKF ?3‘3&‘5 S

DS ©o& 89 GS0Hoss

(3)
(4)
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od
107. Out of 21 large States in India, in the|107. 08 es@rh D of f st 2 3
overall health performance of the 55521‘_5 O] E{P':i | =
National Health Index developed by NITI|  o:3.08% 0878 B9 I 8
Aayog, Andhra Pradesh is ranked at this coHes’, 0 @355 ,35.:51:‘: (2018 )

place (in 2018).

(1) Tenth (1) D83 @;ESG

(2) Eighth (2) AL ﬁ;éﬂ
(38) Eleventh (3) HEE ol 3;5&
(4) Fourth (4) T°QS L0

108, (308 FE§S0 HOBIOBOG :

s 2200 e

A. A complex mix of methods are A. 2E0%o  Soe ”a’@ :

needed to solve complex problems ma&bmgjé ég@ﬁ (a0 :3%@@
such as poverty. 9550033 TQW.

B. Economic and social issues are B. E;r:jagu{fjg Eﬂgﬂ D08 seos’ EQ%
irrelevant in understanding poverty. o 3PRE 90T E&ﬁﬂagﬂ

Which of the statements given above

108. Consider the following statements :

e oo icn 2 T BB (H55BS30(ew)
(1) A Sr

(1) Only A
(2) B

(2) OnlyB

(3) A0Oaiw B Cokr

(3) BothAandB (4) A 000 B =25

(4) Neither A nor B
109. & ©F8  JPoito FUH S

109. A Self Help Group member needs to show B00reS  wBR  ISrSes; St
commitment by attending regular SP3850 O JO0 DIFADNE Koo

meetings to qualify for Qg5 VS Sr0wd) oo
(1) Higher education (1) écﬁ&?‘_ﬁ :)csa

(2) Buying land (2) eesoen S50

(3) Bank loan (3) 23‘5{35 &S

(4) 800 Dy
(4) Asset generation PO Dz
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(40) “ € ONE3E
- . 58635 DT
0. Shl'\EE Nldh.l Credit Cu..n rative 110. : g}@ [gdés 55&5 ﬁ
Federation Lim; T = e
eration lelt-Ed 1S promoted by the L:}M‘So 55::?“ e (¥
Government ang the SHOSTPeD
o5 VO
(1) Self Help Groups ) iy =
(2)  Village Organisations a Db E@éﬁg
(3) Mandal Samakhyas (3) SHoL® DaArPSSP
(4)  Zilla Samakhyas (4) B JIrP§

111. Which of the following pairs are correctly

matched ?
Schemes/Acts

A. Nutrition cum
Day Care
Centres

B. National Rural
Employment
Guarantee Act

C. Indira Kranthi
Patham

D. Nutrition cum
Day Care
Centres

(1)
(2)
(3)
(4)

Only A and B
Only A and C
Only Aand D
Only A,Band D

Activities

: Integrated Child
Development
Scheme

:  Enhancement of
Livelihood
Security of the
Specified
Households

:  Nutrition and
Health Days

: Fnrma_.tinn of
Self Help
Groups

DI HES D wdes oy &8

111.
Dahedaron
SETen/Seper  SErey
A SPse3aS So DAY 3D
& 85 oty STAN ARGl
B. 280 (rabes Q0 Hé00erre
&0 TV B0, BSTFE
W0 PILISeD
DOD>0BOLSEO
C. 3088 [sroH 32 SHBA¥w
SNakle) B3P e
D. Sry®ad o Haawo NS
@363
5 ﬂﬂ&ﬁg N[O IO bﬂ"bé&}
D) AS0am B s5r 53,
(2) AX8axw ¢ S5y
®) A300a%0 D smes3,

(4)
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112, Which one of the following pairs is/are|112. Léoa o0& AT ﬁéﬁﬁﬁm&ﬁﬂ o) ¢

correctly matched ?

A Sos g ©ab)
A. Chandragupta : Priyadarsi

B. 535 OGS
B. Kanishka ¢ Devaputra

C. o 5&dW : oialalop
C. Kujula Kadphises : Rajadhiraja |
D. Soyir@ @ &GS (o@S0

D. Kalpasutra : Buddhist text
(1) A Sdakn D Solr

(1) BothAandD
(2) B 0a¥n C doter

2
(2) BothBandC (3) A 300ci» B Codr

(3) Both A and B (4) A 35080 C 3o&r

(4) BothAandC

113. DI PGy (S50 S0y S5esd
113. Sonti Ramamurthy was the first Indian
ICS officer to hold the post of Chief

Secretary to the Government of Madras 9RO T0 T° Srd. et S BT
Presidency. He hailed from

SEID VIS el  rEdad  ICS

ROOSIED

(1) East Godavari district (1) Sy S8 R

(3) Vijayanagaram district (8) d;oHSKBo Ve

(4) Visakhapatnam district (4) dT°PIEYE0 B



[E]

& @080V
o° 5%

114. The fourth Nehru Literacy Award in 1971|114. 2°5% 356" & 165? &° HH I
was awarded to thig woman for her DT SOYy 1P 19

outstanding Contribution to the promotion 23083 EE@ aéﬁmﬁﬂﬁ

of literacy in India_

(1) Duvvuri Subbamma (1) o360 ey
(2) Pratibha Bharat; (2) ESgr grod

(3)  Arutla Kamala Dev; (3) ©OHE ST &N
(4)  Durgabai Deshmukh (4) ogrerad BF0P

b $5H  OOO°
115. The President of India can be removed|115: #7058 OTFd8) o8 3G N

from office through S ORoUS T
(1) No-Confidence motion (1) @DE‘EE ﬁﬂ‘&ém
(2) Impeachment process (2) edFoRS HEah

(3)  Judicial process (3) aﬁﬁaﬁj LE'JLéﬂfﬁ

(4) All of the above

(4) PIA0ho
116. The first recommendation of[1186. E:.’?EE} \_%}E‘g% 53135‘5 (2010) D23
Justice Srikrishna Commission (2010) AL KPS

was

1) oy 35S QGRS E;g@::)

(1) Continuation of status quo of

Sl

Andhra Pradesh SO0

(2) Bifurcation of Andhra Pradesh and 4 Bog : Rl R SO0y
Telangana and Rayalaseema SACFELTURATON 5 Z)g‘j@mﬁm &o

(3) Continuation of Hyderabad region (3) 55&@5@,53 =
with coastal areas SO 33 Ao Eo

(4) Setting up of River Water Allocation (4)
Committee

S8 e J05%o SN DU::,&J.}



VSWS |

(43)

117. Consider the natur;a of the tenure of the

different Lok Sabhas in India :

A. The fifth Lok Sabha had longest
tenure

B. The eleventh Lok Sabha had a short
tenure

C. The first Lok Sabha was abruptly
dissolved

D.

The sixteenth Lok Sabha completed
its full tenure

Find out the correct answer from the
above.

(1)
(2)
(3)
(4)

118. Voting age was reduced to 18 years in
India

(1)
(2)
(3)
(4)

through this Constitution
Amendment Act in 1988,
6 1 st
6 2].’1d
631'-:1

119. The Chairman of the Agricultural Credit

Only A is correct
Both C and D are correct
Both B and C are correct

A, B and D are correct

Review Committee is

(1)
(2)
(3)
4)

P.C. Mahalanobis
A M. Khusro

D.R. Gadgil
R.V. Gupta

B.
C.

D.

(D
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

L]

117. 5058 Sso& D¢ &Sl sro OB

RETI R $5080otod
A 28 &5 srobdd KD

SEE0ES §°638 R0 $E),

3wsed  EEJY  efostorr 8
90008

SEE §EVEY SO0 KoIFYo

R3S DB BIPTTR) Q0S0s :

A SPE30 S0HSO

C 0000 D &0 Bokr S5863p8
B 58010 C &0 Bo&kr HOEHS
A, B 50050 D e 586089

118. 2430R SCIFSOWAD 18 DogH SAKT
1988 & JES Te0N $368s 3830

6055
6135
625
63

119. e¥e\SS B&S 83y 563 P§S

%.2). HFTOTOHY
D05,
&.es6. GS
e38.9. O
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120, i
0. Identify the Wwrongly matched pair(s)
from the fulluwmg
A. UDAY Scheme 2015
B. | PAHAL, L.P.G.
Consumers
C. CAcp 2007
D. National Policy 1985
for Farmers
(1) Only A
(2) OnlyB
(3) CandD
(4) AandB

121. Consider the following statements :

A. In Andhra Pradesh, the share of
agriculture is
State’s GSDP.

The Andhra Pradesh Industrial
Infrastructure Corporation is the
nodal agency for Special Economic
Zones in the State.

increasing in the

C. IT sector is the fastest growing

sector.

D. Amrut Solar Power
operating at Kadiri

district.
Identify the statement(s) which is/are not

Plant is

in Kurnool

correct.

(1) OnlyB
(2) BandC
(3) OnlyC
(4) AandD

120.

121.

808 TS’ Sidy,T BBVAED WOLIOD

fyeleletnlela ,\é‘p\
©

A. UDAY &0 : 2015
B. PAHAL : LSS
DAABPRT B
C. CACP 2007
D. JI335S 0% 1985
S8 &6
(1) A SrE8d
(2) B SR
(8) C oda» D
(4) A S0a» B

808 Trs5oH $568d0Sod

A ©0E BBFE ToHo Gy, GSDP &
S BOKO ToET DIV

B. wog ©BF IBEWE SIS
SE05S (APIIC) Togoé’d l;aaég
GRS DOEHH TGS QBIYT asyds

C. 2.4. &oxo 0S8  JKore
DDIHBS) SoKo.

D.

VNG b 335 0L SEme
2, 6D 580 3¢5 DB,

2 TS0 8500 TSN HYoSod -
(1) B Sred

(2) B Sodaxyn C
(3)
(4)
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122. The origin of caste system is at first
mentioned in this culture.
(1) Indo-Aryan
(2) Indo-Dravidian
(3) Indo-European
(4) Indo-German

123. Theory relating to the nature of society 1s
(1) Patriarchal theory
(2) Revolutionary theory
(3) Idealist theory
(4) Matriarchal theory

124, Two prominent persons associated with
Chipko Movement in Uttar Pradesh

during 1970s are

Sundarlal Bahuguna and Chandi
Prasad Bhatt

(1)

B.D. Sharma and
M.S. Swaminathan

(2)

(3) Maneka Gandhi and Rajendra Singh

(4) Panduranga Athavale and Vandana

Siva .

123.

124.

4) Bo& -8B

JeTeeso ﬁcsep"a”@é 50200V ATFOLO

(1) ﬁ@g&sﬁsg %m;aiﬁﬂ

(2) 323}“@&5 ?JE;GE:’&G

(3) eEGTE hq;miﬁa

(4) Sreyrgabs ?ch’mﬁﬂ

1970 $¥508° &Y @5556( 0~

GGEIrdS  HoWOROIS B (S0P
E’J'Sg_gﬂ‘.‘v

2055S 2TVNH  HOAH S0l
b 87e5

(1)

2 D6

3‘5:305‘5{):5

SH0AD ..

3) sz mod SHdcn TrEos don

(4) eoBoK FrSd B0 SoST BaS
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125. Study on Development of Popuiation|125- g0 e ey FNIS TIO

Geography’ was first introduceq iy the DEPTS & 505;,?9; Eod

following University : @E};’}JQ’ @Z o e 80

o lg
(1) Punjab Uni?ersity, Ch&lldigarh g)ésg}cjﬂéﬂCﬁJOéﬁL é
$0ee i}fﬁﬁﬂmﬁﬂﬂﬁg' Socite

(2) C.T. University, Ludhiana

(3) Punjabi Unjvgrsity, Patiala

University,

Guru Nanak Dev
Amritsar

(4)

126. Shifting cultivation in North-East regions
in India is known as

(1) Jhum

Ladang
Milpa

(2)
(3)

(4) Roka

127. The two respective names of the Ghats in
Northern and Southern directions of

Andhra Pradesh are

(1) Eastern Ranges and Kadapa Ranges

(2) Western Ghats and Southern Ghats

Mahendragiri Ranges and Erramala
Ranges
Deccan Ghats and Kailasagiri Ghats

(3)

(4)

126.

127.

(1)
(2)
3)

(4)

o
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128. '_I‘he largest and smallest Populous States

in India are respectively

(1) Maharashtra and Kerala

(2) Uttar Pradesh and Sikkim

(3) Andhra Pradesh and Haryana

(4) Madhya Pradesh and Punjab

129. “The Government of India shall establish
the AIIMS type Super Specialty Hospital
cum Training Institution in the successor
state of Andhra Pradesh.” This was
included in this Schedule of the Andhra

Pradesh Reorganization Act, 2014.

(1) Tenth Schedule

(2) Thirteenth Schedule

(3) Ninth Schedule

(4) Eighth Schedule

hierarchy, the

According to the
Commissioner of the Social Welfare

Department of Andhra Pradesh is directly

answerable to

(1)

130.

The Minister of Social Welfare,
Tribal Welfare and Empowerment

The Principal Secretary to the
Government

Additional Directors

(2)

(3)

128, e 808 B 2N

129. “eﬂ@e: 58 J0g

(4) The Chief Minister

= O/

sorr T 9
03B OgFed ST Uy
(1) Sofoeg 000 ety -
805 (SBF SBO 28,0

(3) o $BF HBAR0 TTF

(4) ;ﬁ;:ﬁa @55 b b]@]0D 0y 3’}':323‘?5

(2)

Depd DO $083 b
s 5038 SO0,

S Tey Jtﬁgé 0l D8 G“@,cée AR
Sgos LB 829 @0 B3

DSBs 5;;;559 Sg0 204 & s 25008
D0 DBIT°E

(1) HDED h.ﬂii‘aﬂ)

(2) D03 hﬁl‘éﬂﬁ

(3) SABS DTG

(4) IS DEPGE

130. SENE0 PS80 S0 PR8 oS
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TPROTTONT &OLPED
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(4)  Sogg HodS
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Eﬂﬂﬂuragzt:zz; Pl‘ﬂgrammes that | 181, Jrasoee2y ;533555@ @Béﬁo-ﬂ S“"C%LS'
SPecific aimg op 2 2R is one of the @00 @38 B Aoy, 8.8 DQH o 5O
(1) Scheduleg Tbes Fonne (D) WS B sy ==6358
Co
(2) “poration (2) AD0¥adsS SEHHO DOZDH T°Y
Backwarq 0l
a -
Department = "O| (5 wops a8 . w;i o
§°-es58¢35 o Y Oaéd
(3)  Andhrs Pradesh Scheduled Castes " S
Cnnperati*r._re Finance Itq. (4) S0 BDe m@@m@ﬁﬂ P
(4) Andhra Pradesh State Minorities &S
Finance I.tq.
132. Bz SGE0S” I IS 0O

132. The weavers Who are included in this
scheme are automatically covered by the
group insurance scheme.

(1)
(2)
(3)
(4)

Provident Fund Scheme
Health Package Scheme
Thrift Fund Scheme

Deen Dayal Scheme

133. The assessment of gender differential
impact of the budget to take forward the
translation of gender commitments to
budgetary allocations is called

(1)
(2)
(3)
(4)

(Gender Allocation
Gender Budgeting
Gender Equality

Gender Performance

SPGB (1D 3T B8y B0
SOHE8 Seo

(1) @JGoeS Jo& 5::3;5)
@) g >Be 5

@) B3 $o& %

@ 85 sars &) 5

133. 253 oK 25¢s PF°S @WoSTSs oK

2}@%@@ N é@mc@ﬁ o o°

S0 BroED Higesss JT° OLTES

(1) 90K Seranoy,
(2) dorx m%ﬁgﬁ
3)  ®or NIrISBc0

(4)

[

ok R‘Jé,b{j.;j



VSWS | (49)

134. A common factor for the continuation of
membership in a Self Help Group is that
the woman member should

(1) be a money lender
(2) be living in a pucca house
(3) be educated

(4) make regular savings contributions

135. Community managed sustainable
agriculture is a part of

(1) Training of Rural Youth for
Self-Employment

(2) Sree Shakthi Scheme

(3) Society for Elimination of Rural
Poverty

(4) National Mission for Empowerment
of Women

136. Women empowerment includes a woman’s
participation in improving her well-being,
for which she needs to

(1) participate in decision-making
(2) have access to information
(3) have formal education

(4) be allowed to buy gold

184, Sa0 SO OO

135.

136.

sy S
FROHSE & ST $80050°08 IOV
PSR ©OBO
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@) S8’ ASHoD &oEd
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33557230 DS ABEToDNE P Il a0
e OV erifo

(1) @Q_:Jaﬁ 56 orod ohrd $6 :::.eg)
Dﬂﬁ;ﬁ)&océﬁ
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3) e $6 JOWIDS D Er5S
>3
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Rajendra Cholga
Vishnuvardhan
Kulottunga Chola
Raja Raja Narendra

(50) 55550 554053
SORTY |

138. "Admiflistrﬂtiﬂn cannot be the work of one
man, just as one wheel cannot drive a
cart.” This is stated by

(1)
(2)
(3)
(4)

Kautilya
Megasthenes
Fa-Hien

Plutarch

139. The South Indian Liberal
(SILF) was inaugurated to safeguard the

interests of

(1)
(2)
(3)
(4)

Brahmins
Non-Brahmins
South Indians
South Andhras

Federation

140. In 1954, the highest civilian award in
India, “Bharat Ratna” was given to

(1)
(2)
(3)
(4)

Rajendra Prasad

S. Radhakrishnan
Dhondo Keshav Karve
Purushottam Das Tandon

138.

139.

140.

;iJ;fI‘aJ“Cié;i:J&ﬁJ
FeiS 08 @mmaﬁm @“cﬁﬂ@oﬁm@

(1) oo S

2) DRIFHE

(3) HE oI SO
4) O 0 Srelellaves

&y ESoT 28 2GR 206 SES0E
$psBRr, Sore aboErol DOFIE?
2.5, 358 SOS°C5.” B B0

(1) Sedengd

(2) Do

(3) Pe-ralrd

(4) Jrerd

8 FE 208000 D85S DECHe (SILF)
28 PadreTro H0580uGe8

809 0BGESE

(1) (e

(2) (@B
(3) &8 grESoven
(4) &8s &0

08 Tios’ BELNE T HSFy S0
“GrO8 58)” 1954 &° Hog 3350808

(1) oBos B>E

(2) 5. U‘Q‘%ﬁ

3) &o& x5 ey

@) DOXED &8 erons
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141. The total strength of the Union Council of | 141- 2003 & ey ;530@5705@ Q) 200g0

Ministers shall not exceed 15% of the total (95°80 Sol8 = 50 :;a‘bsﬂés

number of members of the Lok Sabha D805 D0 &S ° =

under the following  Constitution 15 78 NOTSTED

Amendment Act, 2003 : (1) 913

(2) 92nd (3) 93

(3) 93rd (4) 943

(4} 94th at oy

142, EFOS & ovﬁg:@g 4op000DS (508
FSSIRIAGS) 3855006 ¢
142. Read the following statements that are A B8 TRSO 250856300,
;‘:ﬂgt-‘:emed with the Vice President of Sk <5525 X)ESD}:, < B DS $509
ndia :
A3 58 GO0PROV

A. The Vice President acts as the .90 = v » @2 e
President of India in the event of e oo OBV &
death, resignation or removal of the OB S5a3 55 OTCR.

President of India for a period not B. eris mgm 555 ST mﬂsmma
exceeding six months. T—— %?J el &3‘5;
B. The Vice President acts as the i 5
é (¥4
Supreme Court Chief Justice when ﬁwﬁéﬁ e e gsmu P
the latter’s tenure expires. ?50:{) Vel 5555#63_:@-

C. The Vice President acts as the Prime C. 68 s DO o) TNV
Minister of India when the latter SR , g0 ﬁ%;’)[}“a;)@ 2T°5es
resigns from his office. RGPS SO ;’3555;’3“5@_:&3_

D. The Vice President acts as the D. 88 GITPIE  Treyy DD
Ex-officio Chairman of the Rajya e
g SE0T; PLHATT S5O,

Identify the correct statement(s) from the S S0t POADRS T

above. .’bgut‘.ﬁﬂé. -

(1) Only A is correct

(2)
3
(4)

B and C are correct

A 3P D0GDHIO

B 5080 C S 8PS

A 50050 D S 0P8I

B, C 500050 D Sr@adb OGS

(1)
(2)
(3)
(4)
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143. Panch - - o0® O '

o ﬂ:&fﬂh Raj Day is celebrated every|143. (&% BHow” i

oS e3oE O

(2) April 23 2 SO 23

(3) April 24 (3) Hod 24

(4) April 25 4) @S 25

$6y0h
144, B30 SFyrosES &5 Sa5mr 150y

144. The Prime Minister highlighted the - 50 (B0
j Brh @oPsE
importance of the Governing Council of TS & I &

NITI Aayog as a platform to inspire 3003 54 gz, 5Thﬁwﬁa

(1) Co-operative federalism (1) D558 SrRg 55:}:9
(2)  HISE eRrgdy S50

(3) Co-operative farming (8) ¥Is°0 5555&@‘:'.
4) D558 DG AT°O0

(2) Co-operative feudalism

(4) Co-operative financing

145. 308 &0 H0BOOBOG :

145. Consider the following : N
A. ﬁr&bﬂﬂ %gem 3;&@ 'aatﬁ&ff) S aHoS
A ,
Rourkela Steel Plant was set up with 309 %032 8.
the help of Germany. ® 5
B. TIrd Qoo aFotwn afn.dR.d0.e88.
B. Durgapur Steel Plant was set up S FOHOS FHOSDACS.
with the assistance of U.S.S.R. i S
C. o omod «b godalr OWE
C. Steel Authority of India Limited was i . 3 G
: 1974 & >HoSE08.
established in 1974. D. & "'T‘E
- YOA0 e
D. Bhilai Steel Plant was established in s O 1973 &
LIoSE08,

1973.

Which of the statement(s) given above
is/are correct ? -

(1) OnlyB (1) BSr@d
(2) OnlyD (2) DS
(3) BothAandC 3) A Sdaxy C Boty

(4) Both B and D 4 BS%8agy, p Sots
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146. In India, high grade quality mica, capable | 146- Y 555 Tg08
of earning huge foreign exchange is 283, &850 @ed O =
available in this district of our state. 2’ 0800
(1) Nellore (1) g
(2) Krishna (2) %%
(3) Guntur (3) 1O0LT
(4) East Godavari 4) &Sl R0
" SE\Se  DORD,
147. The definition “Society is the complex of 147. R’JS.’JL:DE“O:bGéG Py ‘;55‘;5‘3%“ = ‘gﬁgj
organised associations and institutions ;Séééﬂ PNV INY e ~e)
within the community” is given by gjﬁsf_')ga;{jﬁ
(1) Giddings (1) Agohy
(2) Ginsberg 2) ASPY
(3) Harkins (3) SOy
(4) G.D.H. Cole 4) R.8235.5S
148. Consider the following statements : 148. (500 (350030 0880B0G ;
A. Early Greek political thinkers did A 89 (O oadd JborHw Or&3g0,
not make a distinction between state T30 ;ijc:ﬁa &’Jg@ﬁﬁﬁﬂ SR BE0.
And socleky: B. T Bdpdsses’ dirmo 86
B. Barker viewed that society 1s not m‘ﬁbﬁ 2T DOTED.
held together by the state.
C.
C. Maclver explained that social
motives control the state.
D. Rousseau held that state of nature D. &raf 3500 SYOS S5 930
was a period of peace. FoBE Er&S0.
Of the above, identify the wrong 2 TS Sy (B%IS(e0) 10GoB0s.
statement.
(1) Only Bis wrong (1) B SrED Sy
(2) Both B and C are wrong (2) B SH00» C oo Sokr Sy
(3) Only Cis wrong (3) CImEd 8y
(4) All the given options are wrong (4) EEJQJ 232N e‘ﬁ‘éﬁﬁ}:
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149, The previous name of the ‘Protection of

150.

(54 )

Civil Rights Act, 1955 4s amended in
1976 1s |

(1)

(2)

(3)

(4)

The Untour:habi]jty (Offences) Act,
1955

The Non-discrimination (Offences)
Act, 1955

The Cancellation of Untouchability
Act, 1955

The Eradication of Caste Act, 1955

Consider the following statements :

A.

Ministry of AYUSH was formed in
2014.

Previous name of AYUSH Ministry
is Department of Indian System of

Medicine and Health.

AYUSH presently is wunder the
Union Home Affairs Ministry.

Recently the Tibetan Health
Tradition, Sowa-Rigpa has been
added in AYUSH.

Identify the correct combination of
sentences from the above.

(1)
(2)
(3)

4)

A is correct and D is wrong
Both A and D are correct
Both B and C are correct

B is wrong and C is correct

149, 1976 & $3009%

150.

[B]
o 53]
R

23630, 1955’

(1) @Ry ¥ (

@) 955 O (Borev) $&30, 1955

(@) ey )ETO
oS 50, 1965

& 3620, 1955

4) %o

@Dﬁ FTﬁﬂm :}a‘gaﬂﬂsﬂé .

DTPy20008.

A.

B, echd 088 TP WOV
FEBAn Dess O 8Ky IS

T°Y.

C. oD ER%o o Fo T8
o od.

D. 38330 ‘oSt 63965 81
DB ‘BT -BRD 30
B81E08.

(1) A 22y 08ay D @éoj:,
(2)  AS8a» D Boy 2y
® B0t € odr o3
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